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> load("dice.RData")

> length(d) @ -3
[1] 1600 /0 - o

> table(d) 0
d

i 2 3 4 5 6 \’ 4
191 155 159 181 151 163 ‘
> plot(1:6, c(table(d)), ylim = c(0, 300))
> abline(h = 1000 / 6, col = "#ff400080", 1lwd = 3)

N RIS

s 1o - lMeeeEYrI0O30fk
v 1000/6 = 166.66...7
[ S S S S

kubo (http://goo.gl/m8HSBM) 0000oD0O0O000 OO0 2015 (1) 2015-05-26 17 / 56


http://goo.gl/m8HSBM

000000000000000
(2301 OREFRDME?

Categorical Distribution / - ®

AT AILDTE -
0 (]

p(Y =Kk)=pr < _.*°
pr =1
;; k

ke{1,2,3,4,5,6}

75—
- Py Py . Ps  ppmvroosor
1P Py Dgrovoss - 166.66...7
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d
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d
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> v.prob <- table(d) / 1000 /0 -« o
> replicate(8, table(sample(1:6, 1000, ®
+ replace = TRUE, prob = v.prob))) \\. o

11 [,21 [,3] [,4] [,5] [,6]1 [,7] [,8]
185 201 174 202 179 193 198 197
156 159 158 164 160 141 154 151 @
173 161 195 180 177 153 147 173
176 171 173 177 189 174 200 190

147 157 152 139 138 171 122 130
163 151 148 138 157 168 179 159
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> # Y430 1000 E3HD%E 1000 EP3 /' « 0
> siml000 <- replicate(1000, \ )
+ table(sample(1:6, 1000, replace = TRUE, o
+ prob = v.prob)))
>#5 £DE 6 NS TREHIT?
> sum(sim1000[5,] > simle00[6, ]) @
[1] 247

># 3 KDE 4 NBLTRHEEMIT?

> sum(siml1l000[3,] > sim1000[4,])

[1] 111

>#5 K1) 6 ABLEEIC,3 £DE 4 NS TROEHEIE?
> sum((sim1000[5,] > sim10E0[6,])

+ * (sim1000[3,] > sim1000[4,]))

1] 35
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1000
> table(d)
d

1 2 3 4 5 6
191 155 159 181 151 163

7JCID'CT 9
P, p; . P lwmvraosok
1 Py Dgovoss - 166.66...2

My JOOHEETIV] (CTEBC L
%//\J -
> # Y400 1000 E510%E 1000 EP3 /'/:\

> sim1000 <- replicate(1000, J\ (] L
+ table(sample(1:6, 1000, replace = TRUE, \0 o/
+ prob = v.prob)))
># 5 &UB 6 NS THEMIL?
> sum(sim1000(5,] > sim1600[6,]) @
[1] 247
> # 3 &UB 4 HETIEMIE?
> sum(sim1000(3,] > sim1600[4,])
[1] 111

2 72 @017

M JODHETETIV] (ETEB L
ELEHE

> v.prob <- table(d) / 1000 ‘

> replicate(8, table(sample(1:6, 16000, ®

+ replace = TRUE, prob = v.prob))) oo
N

11 [,2] [,3] [,4]1 [,5] [,6] [,7] [,8]
185 201 174 202 179 193 198 197
156 159 158 164 160 141 154 151 @
173 161 195 180 177 153 147 173
176 171 173 177 189 174 200 190
147 157 152 139 138 171 122 130
163 151 148 138 157 168 179 159
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> data

[1] 2246452312043333427243334
[26] 3 753176465247226245451323
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> table(data)
0 1 2 3 4 5 6 7
1 311 12 10 5 4 4

(000 50 500000060400 ... )
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> hist(data, breaks = seq(-0.5, 9.5, 1))

Frequency
? ? ? 10 12

2
|

T

Histogram of data

gooogoboooooboobod
ogoo 0o oo
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> mean(data)
[1] 3.56

> abline(v = mean(data), col = "red")

Histogram of data

Frequency
(|5£|31|012

4
|

2
|

7

[ I I I |
0 2 4 6 8

data
kubo (http://goo.gl/m8HSBM) 0000oD0O0O000 OO0 2015 (1) 2015-05-26 32/ 56



http://goo.gl/m8HSBM

Odoododn

uboooob oboo boobooobooboo:-o0og

> var(data)

[1] 2.9861

000000 00000ooOo0oo (SD = vvariance)

> sd(data) o Histogran of data
: ooooooo
[1] 1.7280 = 000000: 000000
> 00— .
> Sqrt(var(data)) %wa Oooo0oooo:.:0o00oo0oo
[1] 1.7280 £

2
|

0
L

data
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> table(d)

d

1

2

3

p, =

4

5

6

191 155 159 181 151 163

,pl

cftable(d))
05 150 250

132 P3

b,

by

b

T
1

1R
kubo (http://goo.gl/m8HSBM) 0000oD0O0O000 OO0 2015 (1)

T
2

T
3

T
4

T
5

T
6

k OEMNHIZEIE

1000

RRF—5

| 1000EITr IO D/

1000/6 = 166.66...7

2015-05-26

35 /56


http://goo.gl/m8HSBM

“0O000000”  ooooo

> data.table <- table(factor(data, levels =
> cbind(y = data.table, prob = data.table / 50)
prob

Histogram of data

8 10 12
0.20

prob

Frequency
0.10

0 2 4 6

O.PO

0 2 4 6 8 0 2 4 6 8 10
data y

o0 b0 o obbd
U0 ooood

s ‘Ub00b00ObObOO”bObLObOOb

‘0000”7 000000000000O0
BT Sl 000000000 000 2015 (1)

y
1
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10

© 0 N O O W N O
O O O b b O

[ure
o

2015-05-26

0:

0.
.06
.22
.24
.20
.10
.08
.08
.00
.00
.00

O O O O O O O O O o

10))

02

36 / 56


http://goo.gl/m8HSBM

ooooooovz gooooooooo

0oobOoo0o0onD “o0o0”b0bbooooo.....

.00000000000000007
.000 y={0,1,2,---} 0000000
0Jo0000000000oOg?
.0000000

{po.p1, D2, -+, D99, P10, -y 1O ODODO?

Doooobodobobooobooboooooboon......
000000000 000 2015 (1) 2015-05-26 37 / 56


http://goo.gl/m8HSBM

ooooooovz gooooooooo

00o00o00o0o0o0obobo0o0ooobboooooooboooo?

LOo0uouoonoonooon “gog”
0o

LU oouoogn

Adoououououououodn
O (CDoODoDoooooooon)

kubo (http://goo.gl/m8HSBM) 0000oD0O0O000 OO0 2015 (1) 2015-05-26 38 / 56


http://goo.gl/m8HSBM

0000 (DDDDDD)DDDDDDDDDD

bbb yoobooboobbooboobbooboo

AVexp(—A)

ply | A) = )

eyl yOOOOODODODOD 40 1x2x3x40000000000
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>y <= 0:9

> prob <- dpois(y, lambda = 3.56)

# 000000 ooy

> plot(y, prob, type = "b", lty = 2)

prob

T 00 (\)O
“ Poisson disf

0.00 0.05 0.10 0.15 0.20

3.56 000
ribution

kubo (http://goo.gl/m8HSBM) 0000oD0O0O000 OO0 2015 (1)

# D0uooooooood

> # cbind 0O 0OOOO
> cbind(y, prob)
prob
.02843882
.10124222
.18021114
.21385056
.19032700
.13551282
.08040427
.04089132

<

© 00 N O O W N =

-
o

© 00 N O O W N - O

o

O O O O O © O O ©

.01819664
.00719778
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O\

8 10 12

o

Frequency
e

2
|

’
;
o

0
|

Histogram of data

> hist(data, seq(-0.5, 8.5, 0.5))

# 0J00oo0ooooooboo

> lines(y, prob, type = "b", 1ty = 2) # OO00OO0O0OOOODOO
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> # cbind DOODOO0O
> cbind(y, prob)

prob
.02843882
.10124222
.18021114
.21385056
.19032700
.13551282
.08040427
.04089132
.01819664
.00719778

prob
0.00 0.05 0.10 0.15 0.20
~<
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